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QUESTION 1

Which Juniper product is used to remotely provision the NFX250 platform for Network Functions Virtualization? 

A. Contrail Service Orchestration 

B. Contrail Security 

C. Virtual Route Reflector 

D. Junos Space Security Director 

Correct Answer: A 

 

QUESTION 2

Which two statements are true about cSRX firewalls? (Choose two.) 

A. The host OS can be different from the guest OS 

B. The host OS and image OS must match 

C. The cSRX does not use static CPU reservations 

D. The cSRX uses static CPU reservations 

Correct Answer: AD 

 

QUESTION 3

You are deploying a vMX device in your network. 

Which two virtualized components are required in this scenario? 

A. virtual forwarding plane 

B. virtual chassis port 

C. virtual chassis fabric 

D. virtual control plane 

Correct Answer: AD 

 

QUESTION 4

Which statement is correct about overlay network? 

A. An overlay network requires an OSPF areA. 
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B. An overlay network must have switches interconnected in a spine- leaf implementation 

C. An overlay network uses tunneling technologies 

D. An overlay network requires the CLOS architecture 

Correct Answer: C 

 

QUESTION 5

Juniper Networks supports which two alternatives to layer 2 loop prevention protocols, such as STP, in an underlay
network? (Choose two) 

A. MC-LAG 

B. BGP 

C. LACP 

D. TRILL 

Correct Answer: AC 
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